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QUESTION 1

Organize these CPL components into descending order based on how they are organized in policy. 

A. Layers, rules, conditions, triggers 

B. Layers, rules, triggers, conditions 

C. Layers, conditions, rules, triggers 

D. Triggers, conditions, rules, layers 

Correct Answer: A 

 

QUESTION 2

How do you create a new built-in exception of the ProxySG? 

A. In the Visual Policy Manager 

B. You cannot do this 

C. In the Management Console 

D. In Content Policy Language 

Correct Answer: A 

 

Reference: https://origin-symwisedownload.symantec.com/resources/webguides/proxysg/
security_first_steps/Content/PDFs/Exception_Pages_Solution.pdf 

 

QUESTION 3

Which Symantec product is best suited for simultaneously administering a large number of ProxySG appliances? 

A. Reporter 

B. PacketShaper 

C. Content Analysis 

D. Management Center 

Correct Answer: A 

 

QUESTION 4
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Which deployment method represents a single point of failure? 

A. None of these answers 

B. Inline XXX 

C. Explicit 

D. Transparent 

Correct Answer: B 

Reference: https://www.symantec.com/content/dam/symantec/docs/white-papers/swg-deploymentmethodologies-
en.pdf 

 

QUESTION 5

SGOS is based on which other operating system? 

A. Unix 

B. VxWorks 

C. pSOS 

D. None of these answers E. Windows 

Correct Answer: A 
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